
INSTALLATION INSTRUCTIONS

CWP3231



3.2mm

6mm

1



[10]

[16]

2

Item no.in
exploded Description Q’TY

drawing picture

 Clips7 2

 Wall Plugs2 14

 Door Water Deflectors8 1

M4 Screws-35mm3 10

Hinges9 2

Screw Lover Caps4 8

M4 Screws-8mm5 8

1 2Wall Posts

26 Fixed Panels

Item no.in
exploded Description Q’TY

drawing picture

Water Deflector15 1

 Aluminum Rail16 1

10 Brackets 2

11 Door Panel 1

12 Magnetic Seals 2

13 Handle Set 1

14 M4 Screws-35mm 4

Assembly Drawing

17

 Bumper Mouldings  17 8

13

18

 Allen Wrench18 3



3

Installation Steps

Step 1

Step 2

1
2

2

1

Screw
M4x35

3

11
1

2

2

Door Panel
  
 

Fixed Panel
  
 

2



Step 3

Step 4

4

Door Panels

Door Panels

Fixed Panels

2

1



5

Step 5

Step 6

21

1

3.2mm

Screw 
M4x8

1


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

